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RIS T 3797 vt o g 3K

Candidales are requifed to give their answers in their own words as far as
practicable.

qIe1 TR BTRTE W 9 §T 3 quilep fHise @ &1

Figures in the right hand margin indicate full marks.

S Y¥IYF $1 SAYES 987 & [0 15 e @1 S aug [ar & g

15 minutes of extra time has been allotted to read the questions carefully.

48 §¥YF 51 @Sl W fame &, @Ue-37 Ug Gue-a |

This question paper is divided into two sections — Section-A and Section-B.

GUS-3 H 48 awGTT AT & fod 4077 sifvErdt &1 afy were 409 sifte we
& I 3a/3d1 8, @ T¥T 40 I FT § ToAIHT [HAT FWW| ghF G & fow
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SEEMANCHAL ACADEMY

In Section-A there are 48 objective type questions out of which 40 questions are

compulsory. If the candidate answers more than 40 questions, the first 40 an.fs._t’.t.legs
only will be evaluated. Each question carries 1 mark. Darken the correct circie

given on the OMR answer sheet with black / blue ball pen. Do not use wfl“‘-:ﬁ'—'"/
liquid material / blade / nail etc. on the OMR answer sheet otherwise the
result will be invalid.

6. WUS-7 & armf frT 3 ST T 5 & ag awd W &1 S W &
fere 2 s Freffe &1
In Section-B there are Short Answer Type questions of 5 subjects of Social
Science. Each question carries 2 marks. ‘

IET & 579 IR 59 (Q.Nos. 18 5) & Fordd frgt awedt & ST AT &/
History has 5 Short Answer Type questions (Q. Nos. 1 to 5) out of which any
3 questions are to be answered. i
ST T § 6 o7g 39T 59 (Q. Nos. 8 @ 13) & ford fbel 2 7% & W
378!

Political Science has 6 Short Answer Type questions (Q. Nos. 8 to 13) out of
which any 2 questions are to be answered.

Frefyrey & 377 SR 999 (Q. Nos. 16 ® 18) &, 74 faret 2% & IR 37 &1
Economics has 3 Short Answer Type questions (Q. Nos. 16 to 18) out of which any
2 questions are to be answered.

SETieT 7§ 579 FTRIT 597 (Q. Nos. 21 8 25) & R formel 331 & IwR 84 &/
Geography has 5 _Short Answer Type questions (Q. Nos. 21 to 25) out of which any
3 questions are to be answered.

HTaRT WA= H 407 IRIF 997 (Q. Nos. 28 & 31) §, [ [#8l 29 & I
a7 &/

Disaster Management has 4 Short Answer Type gquestions, (Q. Nos. 28 to'31) out -
of which any 2 questions are to be answered,

s7F R 8 35 ITT 999 (Q. Nos. 6, 7, 14, 15, 19, 20, 26, 27) & He4% R¥7 &
w4 siF FefRa &1 sfaera, TeEla faEE, srefemE od giler § gde § U
T 7 IR A &/ '
Apart from these, there are 8 Long Answer iype questions (Q. Nos. 6,7, 14, 15, 19,
20, 26, 27). Each question carries 4 marks. One Long Answer Type question each
from History, Political Science, Economics and Geography is to be answered.

7. [Hal ¥HR & goiaeiiAe® IUFIUT FT ITANT el FR

Do not use any type of electronic instrument.
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SEEMANCHAL ACADEMY

Ug - I / SECTION - A
TS W / Objective Type Questions
0¥ 9T 1/ 48 7% & HAE W97 & Qrr 9w ey v 7o & R @ vw wdt &1

A= ZRT g7 ¢ Wet fAFew F OMR Iz av Rifgw &3 daer 40 wvt & & I &

40 x 1 =40
Question Nos. 1 to 48 have four options each, out of which only one is correct. Mark your

selected option on the OMR sheet. Answer any 40 questions. 40 x 1 =40

1.  HRd H SiEe w 9anE SRS 5T §

(A)  SiRE s By FRETS

(c) e (D) BUTE

The leading coal producing state in India is

(A) West Bengal (B) Jharkhand
(©) Odisha (D)  Chhattisgarh

2.  WRA 1 VUH WlE-SEd IARH JeT ©
I TRA™ #iE AR & oAl (ISCO)
B) <1 we 3R W HUAT (TISCO)
€) wERI €t faet
D) o i AR s w e

The first iron and steel producing industry is
(A) Indian Ironj ahd Steel Company (IISCO)
(B) Tata Iron and Steel Company (TISCO)
(C) Bokaro Steel City

(D)  Viswesvaraya Iron and Steel Plant

[ 111 ] E |5011-E (15]| Page 3 of 24




SEEMANCHAL ACADEMY

3. @m I gt

By e B) TgH AW ¥
() AT ¥ (o) g EA
Golden Quadrilateral is related to
(A) Railways (B) Roadways
(C) Waterways (D) Airways

4.  TUgH GRANTT &

(ay S (B) STeHIfRTR H
() wifdeRt § (D) B9 H
Gandak project is in
(A) Bettiah (B) Valmikinagar
(C) Motihari (D) Chapra

5. fydig g & 9% g9 F SE-A w1 w1 359 e gl s E A 6

feTT gam ?
\(})/ Teh (B) &I
(C) 3u® (D) YU €=

After the second great war which organisation in Europe emerged to remove the
economic ill effects ?
(A) SAARC (B) NATO

(C) OPEC (D) European Union
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SEEMANCHAL ACADEMY
6.  Tohem e, gRur $7 Y St g TR 3 ¥, 9 SR e 2

nNA TR (B)  HIiEH TR
(C) TFg TR (O) ¥ T
Who said printing is the greatest gift of God ?
(A)  Mahatma Gandhi (B)  Martin Luther
(C)  Prophet Muhammad (D)  Jesus Christ
7.  WRA ¥§ 9K 8 St gHad g @ e ?
(A) 1639 B) 1799
Aoy 18w D) 1999
What is the minimum age to be a voter in India ?
(A) 16 years (B) 17 years
(C) 18 years (D) 19 years
8.  ARA ¥ FFE WER & I ToTed & 2
(A)  EE 3R aremeig By W 3R dwEy
(C) I 3R reqefy (D) UHTeHS 3R GHiE
What type of system of government is there in India ?
(A)  Federal and Presidential (B)  Federal and Parliamentary
(C)  Unitary and Presidential (D)  Unitary and Parliamentary
9. ¥¥ I~y =t favar T &
(A) %ﬁaﬁ Hfau (B) ifwal T faumse
N EETRRIRC R CI)| (D) T I,
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SEEMANCHAL ACADEMY

Which is not a characteristic of a federal state ?
(A)  Written constitution (B) Power distribution

(C)  Unitary ruling system (D)  Supreme Judiciary
10. ¥9 WEHR T SIEA &

8y SR B) dH
© B (D) T F IS Rl
The example of federal government is
(A) America (B) | China
(C) Britain (D) None of these
11. TR # 9ot it g Prefefad § 9 fhe fear 2
(A) ORI 3em8 B) e FER
(€ ey T | (D) ST AR
Who among the following led the Sampurna Kranti ( Complete Revolution) in
Bihar ?
(A) Morarji Desai (B) Nitish Kumar
(C) Indira Gandhi (D) - Jay Prakash Narayan

10, ciditses sgeEnel 3 freita ff I8 W %ol 98 © 2
(A) TG SEEET 6 TE A §
(B) NI & | Zehiret shi GEIE Y (K91 §
(C) AT GHe 3R 37eq T % Uy UH Sl ER Sl ¢
(D) T S ekt 4w § @ @ o S 3T GHAT FF R fKar §
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SEEMANCHAL ACADEMY

On which of the following points did democratic system get success ?

(A) Abolished the political differences
(B) Abolished the conflicts between the people
(C) Majority and minority groups are treated equally

(D) Reduces the economic grade for the poeple sfanding in the last line

13. I FR H faw Fue 3 fFe ww W Frge R 2

(A)  QAmia B) WhiF T eI
&Y T (D) T
In whj(‘:h post did Victor Emmanuel appoint Count Cavour ?
(A)  Army Chief ' . (B)  Ambassador in France
(C)  Prime Minister (D) Home Minister
14. W U9 ©lie ® Afd o7 saers feay fear ar 2
@A) AR ®) fewx
oy fawms o) fafemi
Who started the policy of blood and iron ?
(A)  Mazzini (B)  Hitler
(C) Bismarck (D) William I

15. HPEETR! IMHT T Ugel FEIT el g of ?
(A) w9 (B) SUH

€ I (D) =g
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SEEMANCHAL ACADEMY

Where was the first experiment of the communist governance started ?

(A) Russia (B) Japan

(C) China (D) Cuba
16.  SicRifae shitd &e g5 2

( HERT, 1917 (B) R, 1917

(C) 3, 1917 (D) faa=R, 1905

When did the Bolshevik revolution take place ?

(A)  February, 1917 (B) November, 1917

(C) April, 1917 (D) September, 1905
17.  IUWreT ATUSR 5o e FAm@T SIar & 2

() 179 B) 15TE

(C) 19 A D) 2230

When is Consumer Rights Day celebrated ?

(A)  17th March (B)  15th March

(C) 19th April (D)  22nd April

18.  SYeHYr o g&F 3 fheA € 2

™

@A T ®
© U= (D) ®R
How many factors constitute globalisation ?

(A) One (B) Two

(C) Five (D) Four
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SEEMANCHAL ACADEMY

19,  HH-d I R-EFR § 2

(A) =g e B) e Qe
- T (D) ¥ Far

Which of the following is a non-government service ?

(A)  Police service (B)  Finance service
(C)  Mall service (D)  Railway service
20. WRd ! foxiia TsTaF fohg vRT Y wer T R 2
T B) fewel
(C) ue (D) STIE

Which is the financial capital of India ?

(A) Mumbai (B) Delhi

(C) Patna (D) Bengaluru
21. Te=-9F ugan ot weEE =R S 4 2

(a) e (B)  ThidrEl

JSr e D) ==

Who were the first merchant to arrive Indo-China ?

(A) England (B) French

(C)  Portugal (D) Dutch
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SEEMANCHAL ACADEMY
22. Wi AW Al Fid PE §H ?
(A) 1920 JEV/ 1930
(C) 1935 (D) 1942
When did the civil disobedience movement start ?
(A) 1920 (B) 1930

(C) 1935 (D) 1942

23. Sl CllEl-3eTd el &
\(})/ afeen (B) ¥R@ES H
(C) T T H (D) uf¥Ew S |

Rourkela iron and steel industry is in

(A) Odisha (B) Jharkand
(C) Madhya Pradesh (D)  West Bengal
04. A ST W g THE YHR 1 el e Y ygfd wer 2
(A)  WITCRI g (B)  IhITh I
(€ whgarst s (D) ST S
Which type of attitude emerged in urban system leaving the feudal system
behind ?
(A) Progressive attitude (B) Aggressive attitude
(C) Orthodox attitude (D) Exploitative attitude
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SEEMANCHAL ACADEMY
25. =il amdig faga afE e fen § wfra @ 2
(A) T (B)
(C) TTFERE (D) Yt HRr
In which district is Kanti Thermal Power Project situated ?
(A)  Purnia (B)  Siwan

(C) Muzaffarpur (D) East Champaran

26. & S99 el REq ¥ 2

(A)  SHETR (B)  HITeTR

© TR o e
Where is the railway workshop situated ?

(A)  Jamalpur (B) Bhagalpur
(C) Munger (D) Patna

27. GATH T UgE EROT T E ?

A T O gFT (B) HEHI & H hy
(C) 994 | gHY (D) ¥ | HIg &I

What is the main cause of Tsunami ?
(A) Earthquake in sea (B) Earthquake in plain area

(C) Earthquake on mountain (D) None of these.
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SEEMANCHAL ACADEMY

28, TEIE HTE ?
sy WIEpicreh TET (B)  HS S ST
(C) HIHIRI ST9RT D) T HE TRl

What is drought ?

(A) Natural disaster (B) Man-made disaster -
(C)  Normal disaster (D) None of these
20. Ot H gy fr=iietor 1 e SR §
(&) T (B) T Bt
(C) A AR oy e R

The main cause of land degradation in Punjab is
(A) Deforestation (B) Intensive cultivation
(C) Overgrazing (D) Overirrigation
30. TS YRR H ST S A Bl €
(A) 55% (B) 60%
(C) 65% D)y 70%
Amount of water present in human body is
(A) 55% (Bl 60%

(C) 65% (D) 70%
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SEEMANCHAL ACADEMY

31. Ty el & 1 et wRa § wrm swer ¥ 9
A)  TRES (B) Sife®wA
© &= (D) e
Which of the following creatures is found only in India ?
(A) Crocodile (B) Dolphin

(C) Whale (D)  Tortoise

32. W= 3T 1 THE e AT &

N S (B)  dERE
(C) TAEE (D) % 3w
The main raw material of cement industry is
(A) Limestone (B) Bauxite
(C) Granite (D) Iron ore

33. SIUE BT YSH Y ool §eT SiH-91 & ?
(A)  FUH HeloH JBY” i forer s
(C) WS HY WRE wHfT (D) T ¥ HIE
Which institution promotes long term loans ?
(A) Agricultural lenders
(B) Land Development Bank
(C) Primary Agricultural Credit Society

(D) None of these
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SEEMANCHAL ACADEMY
34, 47 TaeTE o T 8 | ?
a) Fiy & ()  for &

©  fo e o

Which is the third sector of Economic development ?

(A) Agriculture sector (B) Science sector

(C) Education sector (D) Service sector
35, =% e Aifa o fed witafer fmar mar 2

(A) IR (B) Frftenor

(C) iR By ¥ @ e

What was included in the New Economic Policy ?

(A) Liberalisation (B) Privatisation

(C) Globalisation (D)  All of these

36. SUNIHT R BT F & folg Seg Yo fohaT omar & 2
(A) S0 %o (B) 70%o
(C) 10%o (D), T q FI &l
What is the application fee for making a complaint by the consumer ?

(A) Rs. 50 (B) Rs.70

(C) Rs. 10 (D) No application fee
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37. [ Hekt Iume (Redie W 3ume) =7 sy faafer e & 2
(A) IR F few B) HEg fam F feg
(C) HUYHr = @ & foAT (D) SXS¥H & ferw

For which purpose is remote sensing satellite used ?

(A) For telecommunication (B) For meteorology

(C) For searching the resources (D) For television
38. =1 H =9 g w1 waitus gageie TR € ?

(A) (B) =

(©  ¥ER Dy o=

Which of the following is the most sensitive city to earthquake.?

(A) Dehradun (B) Ranchi

(C) Hyderabad (D) Chennai

39. A ddfFa ieerasersaTe 2
(a) U (B) W
Jer~ fweR D) Feeed
Which of the following is called backward state ?
(A)  Punjab (B) Kerala

(C) Bihar (D)  Delhi
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40. YRd ¥ foxig a4 ®F we w@T R ?

(A) 1 9ER W 31 fwmR @ (B) 1S | 30 S Tk
(G~ 1 30 / 31 7 TF D) 1 foem=R |/ 31 3T TH

Which of the following is Financial year in India ?

(A) From 1st January to 31st December

(B) From 1st July to 30th June
(C) From 1st April to 31st March

(D) From 1st September to 31st August

41, Fm d R S9-9 UF T wiepaiten sAeRne % 3w 1@l § ?

(A) T & HHET FEE (B) T TS oA A
(C)  ITRETEN I e Dy FEHEIRT I I
Which one of the following is not according to the democratic system ?
(A) Equality before law (B) Free and fair election
(C) Responsible ruling system (D) Rule of majority

42. R Y Ghorar R Heet €
(A)  FIRERT @t SIIAAT W
(B) AT I TR-SHIAT FHIETS T
Sy AT il foreiehyol FEwiiTe W
(D)  AATERT §RT 3o =fd & feeit Y e W
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Success of democracy depends on
(A) disinterest of citizens

(B) illegal activites of citizens

(C) active participation of the citizens

(D) secure the benefits of their caste by the citizens

43. &SR S WA 61 TF FAROT &
(A) A /T | AT (B) Ufed
(C) U THel D)y~ FrTEER
Bad effect of feeling of regionalism is
(A)  Attachment to own region (B) National interest
(C) National integration (D) Separationélism
44. HGAE
. (}aq/ SO e (B)  FeRUNg EETEH
(€ <id GgEA (D) T W FIE A&
Coal is
(A) Non-renewable resource (B) Renewable resource
(C) Biotic resource (D)  None of these
45. YEEEH €
(A) WIS SAT9ET (B) HMEN™ 3R
(C) |HRT (D) ¥ ¥ FIS el
Landslide is
(A) Natural disaster (B) Man induced disaster
(C) Normal disaster (D) None of these
[ 111 ] E [S011-E i) Page 17 of 24
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@US - & / SECTION - B

SO History

og I "Wy / Short Answer Typc Questions

W G 17 5 aw oy aweie &1 g @ fet o At & sy &1 alE wv & frw
2 siF FreifRea &1 3x2=6

Question Nos. 1 to 5 are Short Answer Type. Answer any 3 questions. Each question
carries 2 marks.

: 3x2=6
/ﬁwaﬁ#%qﬁmﬁaﬁmﬁﬁﬁwweﬁ? >
What was the role of Austria in the unification of Italy and Germany ?
o T T FeTT o1 ? 2
What was the objective of Dandi March ?
/Wﬂaﬁﬁmmmaﬂﬁaqmt"%wvﬁaﬁl 2
"Non-cooperation movement was the first mass movement." Comment.
4. FArEriEtor 3 AeEE #Y TS S feg ate v e 2 2
How did industrialisation influence the livelihood of labourers ?
5. TG % FHiUs 3o THaheidl shi foRIedT i g9 | i

Mention the characteristics of agro-economic activities of villages.

e IWE WA / Long Answer Type Questions
TyT GEIT 6 AT 731 I &1 FH @ fHdl v T I &1 UdE v & [0 4 3w
frerfea g1 1x4=4

Question Nos. 6 and 7 are Long Answer Type. Answer any one of them. Each question

carries 4 marks. l1x4=4
m%mﬁﬁw,aﬂq{aﬁtﬁﬂm%maﬁaﬁﬁl 4
State the contributions of Mazzini, Cavour and Garibaldi in the unification of

Italy.
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7. 9% sty g w=r g 2 fedwAT S

What is New Economic Policy ? Discuss.

I faA= / Political Science
g ST W9 / Short Answer Type Questions
v e 8@ 137w wg A §1 g @ frdt 2wl & I AR W 5 oY
2 3% freife &1 et

Question Nos. 8 to 13 are Short Arr:swer Type. - Answer any 2 questions. Each question

carries 2 marks. 2x2=4

8. WA frg oRE ST SguFaT S § 2 W | 2
How are the caste based differences prevalent in India ? Explain.

o, W) e 4 e o v & 2 2
What is the importance of Power sharing in democracy ?

10. R # gU o™ HARIe % W@ RO 1 G 2 2
What were the ma;in reasons for the students' movement in Bihar ?

11.  WREas & wied % sy w6l ey foew w9 H dEd © 2 2
How do you see the future of democracy in India ?

12. ITCHAE FAHad Y A &1 FY ? 2
Terrorism- is a challenge for de.rnt?cracy. How ?

13, wret T F Ay @ R iR 3vE W O Wi feaoh ferd ) 2

Write a short note on the responsibility and objective of democracy in the

coming society.
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e I W¥ / Long Answer Type Questions

w7 AT 14 Td 15 34 IwiT &1 s @ fed v @7 I &1 mRw W & g
4 3 [FEifea &1 1x4=4

Question Nos. 14 and 15 are Long Answer Type. Answer any one of them. Each question
carries 4 marks. ' 1x4=4

14.  SieF & fofie qeeqett w1 Soorm ¢ e wRe o o & W Oewe & a1 9
FeR R ¥ 4
Mention different aspects of life in which in India there is discrimination against

women and they are in weak position.

15.  YRA9Y § Wds 8 6 & G6har € ? i

How could democracy be successful in India ?

aTEfSTR-Er/Economics
T’l’%ﬁﬁﬁm / Short Answer Type Questions
U9 GEIT 16 @ 187 o1g JR1g £/ 37 ® fahgl 29941 & ¢ 31 ¥de 99T & fog
2 & feiia &1 2x2=4

Question Nos. 16 to 18 are Short Answer Type. Answer any 2 questions. Each question

carries 2 marks. 2x2=4

16. e fad F8d € 2 2

What is Economy ?

y/mmnﬁﬁr%wﬁawﬁaﬁ| 2

Explain the relationship between Income and Poverty.

}B/ATMEEIT%? 2

What is A’I‘M ?
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i I v / Long Answer Type Questions
T¥T WS 19 Ud 20 g swilr &1 g @ Feelt ue @7 Iwv &1 0% 99 @ forg

4 3 et 2 1x4=4
Question Nos. 19 and 20 are Long Answer Type. Answer any one of them. Each question

19— HEHINCT & Heaqur ool o1 & 2/ o & Forerrer & gan) - offigebT bt a0 | 4

What are the important elements of co-operation ? Explain its role in

development of a state,

20. fora & T wRa Qan o % w9 ¥ ReY e S S ¥ 2 39} died el 4
Explain with example how India is known as service provider to the world.

Tﬁ(—-r / Geography
oy I wE / Short Answer Type Questions
WY WA 21 ® 25 % oy IR §1 g9 @ fewet 3wl & Iav §1 aelE v & v
2 siw Fraifea 21 3x2=6
Question Nos. 21 to 25 are Short Answer Type. Answer any 3 questions. Each question

carries 2 marks. 3x2=6

21. HEC IehUT, T &1 A [y TR HeTdh & ? 2

How is crop rotation helpful in the conservation of soil ?

/./mmﬁqhﬁaawammmhml ;

Describe the causes of pollution of the rivers in India.

03, o SfEl % g9 % 9R Y HRI S Ieei@ Hig | 2

Mentioﬁ four main factors of wildlife deterioration.
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Vﬁﬁ%ﬁm@qﬁm@mwm%? =

What do you mean by the conservation and management of minerals ?

25. WN W 1 IART FU O & ? ' 2

How is solar energy produced ?

e swT e / Long Answer Type Questions
TV WET 26 Ud 27 31 Iweig &1 g @ fewl ve @7 IO &1 AdE wvT & g
4 3% freifa &1 1x4=4

Question Nos. 26 and 27 are Long Answer Type. Answer any one of themn. Each question

carries 4 marks. 1x 4 =4

26,  ITRIHI0T, Fsitentor v Aselietor § 39 &1 FHerd & 2 4

What do you mean by liberalisation, privatisation and globalisation ?

27. URA™ steiegen ¥ uiiaed ud ORI Hewl &l 9 i | 4
Describe the importance of transport and communication in Indian.economy.

3MYST UaeH / Disaster Management

o1 ITRIG A9 / Short Answer Type Questions
Ty QAT 28 W 31d% o1g I &1 3R | fF=T 2997 & Iuv &1 ydw 09T ¥F forw
2 & fEifa &1 2x2=4

Question Nos. 28 to 31 are Short Answer Type. Answer any 2 questions. Each question

carries 2 rks. B i =4
/QW‘WW%T@%%? 2

How many types of disaster are there ?
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ﬁﬁﬁw%mwaﬁﬁl

Suggest measures'to control flood.
30. YT 3R GAH! & ST e W i
Differentiate between Earthquake and Tsunami.

31. WW&WW%WWW#l

Describe the role of local administration in emergency management.

WWW.SEEMANCHALACADEMY.COM
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